
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of 

Martin Supermoon 

  

04300002 1N 4007 Diode 

15410004 1x0.127# High flexible red wire 

13104001 Strap, black, 2.5x100mm 

04503504 Transformer 2x115V 23V 250VA 

05523601 Switch voltage select 115/230V 

05830001 Electret condensor Microphone 

05221001 Socket halogen lamp G6,35 

05020016 Fuse 4 AT 

05020009 FUSE 2 A SLOW BLOW 

05031001 Fuse holder chassis 6.3mm plugs , nut 

05551001 Knob 4mm REAN Black 

05551003 Lid for 4mm Knob. black 

08050407 M3x16mm black 

08071501 M4x5 pinol allen key 

08050410 M3x35mm Black 

08111003 M6x16mm BOLT 

08152302 Handwheel Black D60 M10x30/20 

08190203 3.5mm x 8mm SELFTAP. PANH. BLACK 

08190301 3.9mm x 9.5mm Selftap panh. black 

08220101 3.2mm x 6 Rivet Black 

08054401 M3 Star washer black 

08114401 M6 Star washer . black 

08052601 M3 Nut black 

08112701 M6 nut selflock 

98120011 Martin label 70x26 ,white+yel on black 

13101001 Cabel clamp f. 1.6mm plate 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


